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Question Number : 1 Question Id : 7368155657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert 58 into a binary number.

Options:
1 % 110000



> « 111010
s % 110010
4 % 101011

Question Number : 1 Question Id : 7368155657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

58 @I A5 e & aiEtda i
Options:

. % 110000

> « 111010
5 % 110010
4 % 101011

Question Number : 2 Question Id : 7368155658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of prime factors in (15)° < (4)"* x(6)" 1is :

Options:
;% 120

> % 126

s o 122

4 ® 125

Question Number : 2 Question Id : 7368155658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

(15)* % (4)'% % (6)"7 T 3T EJ!UII$ Fr & %’:
Options:

1 ® 120

> % 126

s o 122

4 ® 125

Question Number : 3 Question Id : 7368155659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What least value must be assigned to * so that the number 4053*45 is divisible by 97

Options:
1 #® 7

2_23—1-
3_%5

4.« 6



Question Number : 3 Question Id : 7368155659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

* gpl i 4T ~dH A feIT S =@iey, e §EAT 4053%45, 9 & fasrsy w7

Options:
1 #® 7

2_234
3_%5

4 ¢ B

Question Number : 4 Question Id : 7368155660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 1203 x 99999+1203.

Options:
1+ 120300000

> % 130299999
5 % 120399999
4 % 130200000

Question Number : 4 Question Id : 7368155660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IoTAT R 1203 X 99999+1203

Options:
1 + 120300000

> % 130299999
s % 120399999
4 % 130200000

Question Number : 5 Question Id : 7368155661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the units digit in (265)™" +(211)*"

Options:
1 *® 3

o W 7
T W 5
4.« 6

Question Number : 5 Question Id : 7368155661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(265)°5 5 (211> H SHISAT & 37F @Al



Options:
1 *® 3

o W 7
T W 9
4.« 6

Question Number : 6 Question Id : 7368155662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 321 x 625+625.

Options:
;. ® 201560

> % 201050
5 % 201520
4 « 201250

Question Number : 6 Question Id : 7368155662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IOTAT &L 321 X 625 + 625
Options:

, % 201560

-~ % 201050
3 ® 201520
4 & 201250
Question Number : 7 Question Id : 7368155663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
Shankar studies for ’% hours daily. He devotes 3% hours of his time
for Hindi. How much time does he devote for other subjects?
Options:

3
L W

hirs

[ | =

411'?1‘5
b kS i)

5

I—hrs
3 %

7
3—hrs

4 %

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 7 Question Id : 7368155663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

am';lﬁﬁ?r% ﬁﬁmmm%wﬁ:agmﬁm#%
ue f8er &7 &ar g, ar a8 37 vl & g 3T &ar &2

Options:

4 #® 11
Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 8 Question Id : 7368155664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rana and Raghu together bought a water bottle that contained 7 litres

3 —
of water. Rana consumed E of the water. RE‘HIHIHUJg wWater was

consumed by Raghu. What fraction of the total quantity of water did
Raghu drink?
Options:
1.
1—litres
4

1%

lifr'f?"es
o W

1
1-litres
=M 3

llffn'e.:r
4 & 5

Question Number : 8 Question Id : 7368155664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

o AR T A TH WY G HT OF Sido Al SHA 7 e g ol
m#%%mmﬁﬁmlaﬁmmq#ﬁmlq#ﬁﬁmﬁm
qreT orar?

Options:

13 A

1 %

ﬂarﬂt_{
>« 13

11 @
o W 3



Question Number : 9 Question Id : 7368155665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Aruna, Bhagya. Chetan and Deena finished coloring a picture in = hour, — hour. — hour

Lad | e

L] ka2

:
and % hour respectively. Who among the following finished their coloring last?
Options:

, » DBhagya
- % Armna

3 « Chetan

4 % Deena

Question Number : 9 Question Id : 7368155665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3T, ST, A9 3R T F w2 ue, ;r:l% %a%aq‘h i'a%:ﬁr

"_!-

T T S F I F wAT G Seeae & @ e
IfRT F T 8 FT F1I TATST Far?

Options:
1 ® #HMEFAT

> ® 37U
= W ELE
4 #® EE

Question Number : 10 Question Id : 7368155666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which among the following is the largest?
& B 8 3

Rl TR

Options:

P | N2

1

r~.:-'|l..».1

b
®
'...ul__.h



Question Number : 10 Question Id : 7368155666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frafof@a & & =g & e gaw a3 27

I,..ll',..l'l
| o

b | LN

'_u|‘~=.l

Options:

_[\;I et
#® %
|J|L.u Iql'\':l

laa | |

t
8

i | L

Question Number : 11 Question Id : 7368155667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference of two numbers is 14 and two-third of their sum is 24. Find the largest
number,

Options:

1 ® 306

3

I

3 ®

4 % 15

Question Number : 11 Question Id : 7368155667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ol 37T &1 HaX 14 § 3R 336 w1 &1 2/3 Beer 24 §1 9«9 937 §Er 9a1 H4
Options:

1 ® 36

> o 2D

z % 28

g W 15

Question Number : 12 Question Id : 7368155668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference between a number and its one-sixth is 25. What is the numnber?
Options:

1 ® 40

o W 65



3. ¢ 30
T 39

Question Number : 12 Question Id : 7368155668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ueh G AR 39% 1/6 & & &1 Ha? 25 &1 95 9&r &41 &7

Options:
1 ® 40

o B 65
3. ¢ 30
4 W 39

Question Number : 13 Question Id : 7368155669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the value of (=2) = (=2)~ = (2)
Options:

1 *® -32

o W &7

z % =27

4.« 32

Question Number : 13 Question Id : 7368155669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(=2) % (=2)" = (2)° T AT TdT &Y

Options:
1 ® -32

o B 27
T W -27
4 o 32

Question Number : 14 Question Id : 7368155670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If 78X3-4Y67 = 3456, then which of the following should come in place of Y?

Options:
1 ® 5

o W

[ E I

o R

L]

g W



Question Number : 14 Question Id : 7368155670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IR 78X3-4Y67 = 3456 §, o Teafaf@d & § Y & T W FT AT Aigw?
Options:

1 % 5

- % D

z ® 2

4.« 3

Question Number : 15 Question Id : 7368155671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(756+432)7 +(756—432)°
T756xT36+432x4312

Solve :

Options:
1 # 5

I

2

Cag

3 ®

[

4 ®

Question Number : 15 Question Id : 7368155671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

. (756+432)" +(756—432)’

et ( : ) (1 132
T56xT56+432x432

Options:

1 # 5

o o 2
3_333

4 % 6

Question Number : 16 Question Id : 7368155672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The present salary of Rahul is Rs.4800. This will be increased by 7% in the next year.
What will be the increased salary of Rahul?

Options:
; « Rs.5136

-~ % Rs.5050
= % Rs.50060
4 % Rs.5070

Question Number : 16 Question Id : 7368155672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
UGel 1 AcTAl aoe 4800 FIF §I SHA 30T a9 7 7% & gig T Sedn| gig & g
gl &l del g3 ddel Tehclal GHAM?

Options:
1« & 5136

5 % % 5050
5 % % 5060
4 % % 5070

Question Number : 17 Question Id : 7368155673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an examination. 93% of the candidates passed and 700 failed. How many candidates
appeared for the examination?

Options:
; % 13500

- « 10000
5 % 12000
4 % 12500

Question Number : 17 Question Id : 7368155673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U glET &, 93% TdEmef Scchivt R 700 3fefecior gUl e 7 fhde gdwmef sufeud 47

Options:
; % 13500

5 « 10000
5 % 12000
4 % 12500

Question Number : 18 Question Id : 7368155674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What percent of one day is 480 minutes?

Options:
1 ® 535%

5 % 5.5%
= « 33.33%
4 ®

Question Number : 18 Question Id : 7368155674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25



U oA #1 Thaar ufdea 480 fA=@e giar &7
Options:

1 # 5%

> % D.0%

= o 33.33%

4 % 2.0%

Question Number : 19 Question Id : 7368155675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Express 25 paise: 1 rupee 50 paise. in its simplest form.
Options:

1 « 16

> % 81

= ® 4:5

4 % 54

Question Number : 19 Question Id : 7368155675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

25 99 : 1 ¥ 50 89 & U Sdd 9 7 S0
Options:

1« 1.6

- % 8:1

= ® 45

4 ® 54

Question Number : 20 Question Id : 7368155676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Two numbers are in ratio 6:5. If 4 is subtracted from each. the ratio becomes 5:4. Find the

smallest number.
Options:
1. 20
58] # 30
=3 # 24

42325

Question Number : 20 Question Id : 7368155676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ar 37 6:5 & 3[ad A @l IS UdE @ 4 "R ST g, df 39 5:4 g ST @1 gad
BICT TEAT BT 9T M7

Options:




1.+ 20
> % 30
= % 24
4 ® 25

Question Number : 21 Question Id : 7368155677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A bag contains 50 paise. 25 paise and 10 paise coins in the ratio 8§:5:4
amounting to Rs.113/-. Find the number of 25 paise coins.

Options:
1« 100

5 = 175
5 % 150
4 % 200

Question Number : 21 Question Id : 7368155677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

veh et 7 50 99, 25 99 3R 10 49 & Wah @A 8:5:4 & Ineud
A ¢ foaar o A £.113 81 25 3 & Ra=nl &1 a&ar gar &)

Options:
1« 100

> % 175
s % 150
4 % 200

Question Number : 22 Question Id : 7368155678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 123.341.506.678.452.

Options:

; ® 450
> ® 1225
3 % 1220
4 o 420

Question Number : 22 Question Id : 7368155678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
123, 341, 506, 678, 452 =7 iad AT FiI

Options:
1 ® 450

> % 1225



s % 1220
4« 420

Question Number : 23 Question Id : 7368155679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The average of 7 quantities is 8. The average of five of them is 8. What is the average of
remaining quantities?

Options:
1 % 9
o 8
z % 42
4 ® 30

Question Number : 23 Question Id : 7368155679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

7 aeg3lt #r iea Aer 8 §1 3AE & 9= & 3ied A 8 {1 9 A & Jea fhder 67

Options:
1. % 9
> 8
= #% 42
4 ® 30

Question Number : 24 Question Id : 7368155680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The average monthly income of P and Q is Rs.6500. The average monthly income of Q
and R i3 Rs.5000 and the average monthly income of P and R is Rs.6000. The monthly
income of R 1s?

Options:

1 « Rs.4500

> % Rs.3500
= % Rs.2250
4 % Rs.4800

Question Number : 24 Question Id : 7368155680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
P 3R Q &1 3itwa =f@s 3ma & 6500 §1 Q 3R R & sitga mfEs 3 £.5000 3k P
#R R &1 3itgg #f@s 3= £.6000 &1 R &1 #f&s 5119 Gaar §7

Options:
1« F4500

> % %3500



3 % F.2250
4 % F.4800

Question Number : 25 Question Id : 7368155681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the amount at simple interest on Rs.3200 for 3 years 9 months at 5% per annum.

Options:
1 #® Rs.3500

> % Rs.3600
= « Rs5.3800
4 ®% Rs.3900

Question Number : 25 Question Id : 7368155681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3200 ¥9¥ 9T UTy a9 5% TYROT =20 fT &7 & 3 a¥ 9 Agla & a5 T3 aeir ufer
EIGECTY

Options:

, ® %3500

5 % %3600

3 « %.3800

4 % %.3900

Question Number : 26 Question Id : 7368155682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

i . : . B4 : 4 . .
Simple interest on a certain sum is — of the sum. Find the time, if both time and rate
percent are numerically equal. =

Options:

vears

5 % 2 years

4 16 years

Question Number : 26 Question Id : 7368155682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

mﬁﬁmﬂwmmﬂwf_‘;%m‘%maﬂ?qﬁ&m

& TEAT % FJUR THh WA &, df THT H 90T 97|

Options:




11

1 &

1la¢
o R 15

=z B EEﬁ‘r
4« 16 @9

Question Number : 27 Question Id : 7368155683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Simple interest for a sum of Rs.3800 for 2 years is Rs.45 more than the simple interest for
Rs.3300 for the same duration. Find the rate of interest

Options:

1« 4.5%

o % 5.5%

5 % 4%

4 % 3%

Question Number : 27 Question Id : 7368155683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

2 gy & fov 3800 w927 fr ufdr ¥ f&e arer SreRer sara 3300 &9 oY =9 wafa
forw faee arer SraRer & & gadr # €45 F HHE 1 & 1 aX AT A
Options:

1« 4.5%

> ® 5.5%

2 % 4%

4 % 3%

Question Number : 28 Question Id : 7368155684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
A watch costing Rs.1000 has been sold for Rs.1450. The percentage of profit was?
Options:
1 ® 24%
> o 45%
= % 21%

4 ® 40%

Question Number : 28 Question Id : 7368155684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

1000 T93r &I WETd Hed arel 957 & 1450 T9F & &=7 7147] o &7 uiaerd ohder £7
Options:



| ® 24%
> o« 45%
3 % 21%
4 % 40%

Question Number : 29 Question Id : 7368155685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Swetha sells a washing machine for Rs.8000. She loses 55% in the bargain. What was the
price at which she bought it?

Options:

1 ® Rs.12000

> o R8.17777.77
= % Rs.15000

4 % Rs.17500.55

Question Number : 29 Question Id : 7368155685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TIr £.8000 # arferer #efiey d=cl &1 39 Wigars & 55% & JHa 6lal bl 394 a6
arferT J3fa Gh g 9T @lEr or?

Options:

1 ® +12000

s P HATTITAT

2 ®& 15000

4 % %.17500.55

Question Number : 30 Question Id : 7368155686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Lahari bought an article for Rs.3844. Due to some defects in it, she had pay Rs.156 to the
mechanic for its repair. Then. she sold it for Rs.3700. Find her loss percent.

Options:

Question Number : 30 Question Id : 7368155686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



ol 7 €.3844 F vk avd @K Bl SHA T WU g & FROT, IHA $HH FEAT F
fore HAanferer 1 £.156 Ul T 38T 58 €.3700 & <= feam| 3% faaer gaided Jehas
EL

Options:

1. 1.5%

> % 2.46%

3 % 5%

4 % 2.5%

Question Number : 31 Question Id : 7368155687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An item 1s sold at Rs.415 by allowing a discount of 17% on its marked price. The marked
price of the item is?

Options:
1 % Rs.700

> o Rs.500
= % Rs.000
4 % Rs.0650

Question Number : 31 Question Id : 7368155687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U aFd & 3G HiRd HIAT W 17% #T ¢ ZF £.415 O 997 SAr §1 g W AR
AT fehaer oir?

Options:
| % %700

5 « %.500
5 % F.600
4 % F.650

Question Number : 32 Question Id : 7368155688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What is a single discount equivalent to a discount series of 12% and 15%?

Options:
| % 24.5%

> #® 23.44%
= ® 25%
4 ¢ 25.2%

Question Number : 32 Question Id : 7368155688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



12% 31T 15% & e AW & e Uhd B Thdedl §7?

Options:
1 ® 24.5%

o % 23.44%
2 % 25%
4 & 25.2%

Question Number : 33 Question Id : 7368155689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The marked price of a bicycle is Rs.6900. A shopkeeper allows a discount of 15% and gets

a profit of 15%. Find the cost price of the bicycle.

Options:
1 # Rs.4850

- % Rs.4900
= o Rs5.5100
4 % Rs.4950

Question Number : 33 Question Id : 7368155689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
u wisfaa & sifea 1A £.6900 §1 UF ghEER 15% ©e @ JgAfd &ar & 3 33
15% 1 oM TAeIr &1 Tisfehel & el Hed Ad |

Options:
| ® F.4850

> % F.4900
5 « F.5100
4 % F.4950

Question Number : 34 Question Id : 7368155690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
YEAR WISE VILLAGE ELECTRIFICATION

YEAR NUMBER OF VILLAGES ELECTRIFIED
1997-98 3207
1998§-99 2780
1999-00 2013
2000-01 218
2001-02 4118
2002-03 26235
2003-04 3352

In which year, 1218 number of villages were electrified?



Options:
; % 1997-08

5 % 1999-00
s % 2002-03
4 « 2000-01

Question Number : 34 Question Id : 7368155690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ol 2 A N e 1 T =2 = o e e S o e - ol | R =P T AT s T o D o e =

agar #ATHATT faeg o
a9 e v o andt &7 g

1997-98 3207
1998-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

fore af &, 1218 it &1 faggdeor fhar aar ar?

Options:
, % 1997-98

> % 1999-00
s % 2002-03
4 « 2000-01

Question Number : 35 Question Id : 7368155691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
YEAR WISE VILLAGE ELECTRIFICATION

YEAR NUMBER OF VILLAGES ELECTRIFIED
1997-98 3207
1998-99 2780
1999-00 2013
2000-01 218
2001-02 4118
2002-03 2625
2003-04 3352

The total number of villages electrified from 1997 to 2004 was

Options:



| ® 19212
5 « 19313
3 % 19414
4 % 19515

Question Number : 35 Question Id : 7368155691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o Ed arfeldT &1 <O § 3984 &y 3R Aeaei@a garar & 9 &
YA AT TaegcteioT

T Regriga Bv v anat &7 e
1097-98 3207
1998-09 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

1997 & 2004 d& Fol fohdel aar o1 faggcirhd fovam amam ar?

Options:
;% 19212

- « 19313
5 % 19414
4 % 19515

Question Number : 36 Question Id : 7368155692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
YEAR WISE VILLAGE ELECTRIFICATION

YEAR NUMBER OF VILLAGES ELECTRIFIED
1997-98 3207
1998-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

In which year, more number of villages were electrified?

Options:
1« 2001-02



> % 2002-03
s % 2003-04
4 % 2000-01

Question Number : 36 Question Id : 7368155692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
rFaAfoad aifeiaT &7 o F 3egaa &1 3R AeaifEa gaar &1 999 &)

YA AT faegdTeHioT

ag faegdigd T T andl & ael
1997-98 3207
1998-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

foneT a9 & S3rer el @ faegdihd faar arm or?

Options:

1« 2001-02
> % 2002-03
= % 2003-04
4 % 2000-01

Question Number : 37 Question Id : 7368155693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
YEAR WISE VILLAGE ELECTRIFICATION

YEAR NUMBER OF VILLAGES ELECTRIFIED
1997-98 3207
1998§-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

In which year. 2013 number of villages were electrified?

Options:
; % 1997-08

> % 1998-99



s % 2003-04
4 « 1999-00

Question Number : 37 Question Id : 7368155693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TrafoEa arfeldT &1 <O § 3384 &y 3R AraeT@a garar & oae &

AR ATHOT TaegcitshioT
s et v a1 anat dr g

1997-98 3207
1998-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

forer @ &, 2013 amat @ faegdieor fhar arr ar?

Options:
. % 1997-98

5 % 1998-99
s % 2003-04
4 « 1999-00

Question Number : 38 Question Id : 7368155694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
YEAR WISE VILLAGE ELECTRIFICATION

YEAR NUMBER OF VILLAGES ELECTRIFIED
1997-98 3207
1998-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

In which year. less number of villages were electrified?

Options:
1« 2000-01

> % 2001-02
5 % 1997-98



4 % 1998-99

Question Number : 38 Question Id : 7368155694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TrafafEaa oo &1 oo 9 3egaa &Y 3R Aaef@a gaet &1 J99 2|

AR AHOT faegciteHioT
aq faegdisha forT a7 amal & aem

1997-98 3207
1998-99 2780
1999-00 2013
2000-01 1218
2001-02 4118
2002-03 2625
2003-04 3352

e af A, wa %A al &1 faegdeor faar amr ar?

Options:
1« 2000-01

> % 2001-02
= % 1997-98

4 % 1998-99

Question Number : 39 Question Id : 7368155695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of a square field is = hectare. Find the length of its diagonal in metres.

bt | 12

Options:
1 ® 50mts

5 % 50 .2 mts
= % 40 mts

4 « 100 <3 mts

Question Number : 39 Question Id : 7368155695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

UF T &8 T STPT — gHAT ¢ STSF SH0r T e F AT A

TaT
Options:
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, % 502 AT
o 4[]3:?13_\‘_
10043 e
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Question Number : 40 Question Id : 7368155696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The area of an equilateral triangle is 20y3cm® Find the length of its side.

Options:
1 % deom

> #® 45em

2 4\.'{5:1:??

4 % 425cm

Question Number : 40 Question Id : 7368155696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U GHES TIRIOT & aher 20V3 AT §| SHAT & T oars & e e

Options:

1 % 4 GA
> % 4.5 @A
5 « 445 AT
4 % 4.25 @A

Question Number : 41 Question Id : 7368155697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The diameter of the wheel of a car is 28 cm. How many revolutions will it make to travel

4.4 kan?
Options:

1 % 4000
5 « 5000
= % 6500
4 % 4500

Question Number : 41 Question Id : 7368155697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TH FR & IRT & A 28 WA {1 4.4 RreEeT & A qff e F T 58 Ghas g9t
Y T

Options:

1 ® 4000




> « 5000
s % 6500
4 % 4500

Question Number : 42 Question Id : 7368155698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A car travels 650 km in 12 hours and another 8§50 km in 8 hours. Find the average speed of
the car.

Options:

1 % 52km/h

> « 75 kmv/h

z % 72km/h

4 % 70 kmv/h

Question Number : 42 Question Id : 7368155698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T F 12 g¢ 7 650 et 3t 8 g & 3w 850 fratHeT amr &dr &) & &
it ofg 7 a &1

Options:
| % 52 fravEer

5 @ 75 Rl /Her
5w 72 Rl /eer
L % 70 fa/eer

Question Number : 43 Question Id : 7368155699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A vehicle travels at 40 kin'h. How many meters will it travel in 15 minutes?

Options:

1 % 20000 mts
- % 15000 mts
= « 10000 mts

4 % 12000 mts

Question Number : 43 Question Id : 7368155699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U dget 40 fr.AvEer Fr wfq @ amr S &1 gE 15 B & feder dew & gt a7
A7

Options:
; % 20000 #Hrex




o % 15000 #ex
2 10000 #Hex
4 % 12000 #Hex

Question Number : 44 Question Id : 7368155700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Anand can cover a certain distance in 2 hour 45 min by covering two-third of the distance
at 4 kanph and the rest at 5 kimph. Find the total distance.

Options:
1 « 11.78 km

> % 11.8 km
3 % 11.5km

4 % 11.2km

Question Number : 44 Question Id : 7368155700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hieg 2 9 45 fde & ve Afvad gt off o "aar &, Sed @ - 4 fevEer i
¥ AR 9w 5 fRHEer @R aa & 6T ol el gl T H

Options:

| v 11.78 TremfeT
5> u 11.8 TorelA
z % 11.5 TFel#A
4 % 11.2 TFesAE

Question Number : 45 Question Id : 7368155701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rama takes 49minutes to reach school from home. Prema takes 35minutes to cover the
same distance. Find the ratio of time taken by Rama to the time taken by Prema.
Options:

o B
.i

-1

> o

,._
LIS

3. %
4 ® 5:3

Question Number : 45 Question Id : 7368155701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT O ¥ Thel dsh Ugdel & AT 49 Aae ot &1 9 s 8 g w1 @1 e o faw 35
fAete o &1 W@ g@rt 3R 9T 2@nr v v AT & 3ard &7 9T S|

Options:



=8 T3
4 ® 53

Question Number : 46 Question Id : 7368155702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Spruha works in office for Zhours 40minutes and Spoorthi works for 7hours in her office.
Find the ratio of their working hours.

Options:
1 % 21:8

> #® 22:51
=% 5122
4 o 8:21

Question Number : 46 Question Id : 7368155702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FIET S & 2 69¢ 40 Fde & aXar ¢, 3R Tufd 39a e § 7 9 F13 S 6l
3eich &IH el & G¢ & HeJdid &I IdT oA |

Options:

1 ® 218

> ® 22:51
= #® 51:22
4 o 8:21

Question Number : 47 Question Id : 7368155703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of times taken by A and B to finish a piece of work is 1:4. If A completes the
work in 13 days. then find the time taken by B to complete the work.

Options:
. % 15 days

o o 2 days

- w 20days

4 % 28days

Question Number : 47 Question Id : 7368155703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A 3R B S@RT U &1H & TWeH Hiel & foie, GU 10 G877 &1 3eua 14 §1 3G A &1
& 13 & & O AT &, @ B @N A 90 A A T GHg FaEn?




Options:

1w 15 féat
2 v 52 Ted
3 % 20 f&a
4 % 28 fom

Question Number : 48 Question Id : 7368155704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Priya can do a work in 3days and Preethi is 20% more expert than Priva to complete the
same work. then find the total time taken to complete the work by Preethi.

Options:

1
S—days
594

41477:{112
- R 2

Question Number : 48 Question Id : 7368155704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tar 3 faat & v A & Feholl 6, 3R AT 3 @A @ ar f Jeren 7 20% HfEE
3= allch W & Fehdll o] Al FHA B U el & ToIw Wifed g@rr o aIw et @877 &1 g
CEIg

Options:

52 fea

4= Toat

X

3w 23

4 % 61

1 %

o R

Question Number : 49 Question Id : 7368155705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If A can do a piece of work in 3 days. B can do the same in 6 days and C can do the same
work in 9 days. then working together. how many days will they take to complete the
work?
Options:

2

2 —days

1 # 11

5 R Odays



Question Number : 49 Question Id : 7368155705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e A RA A s A N Tad g, Ba@i s 6 Rad 3N Cafrawm 9 g d =
"HAT §, Al Ueh AT HH F G & & (AU oo fholel el odaN?

Options:

Ul v |

1 ® i1

o W gﬁﬂ
11 e

3.9 11

g W 24%7{

Question Number : 50 Question Id : 7368155706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

20 men can complete a work in 21 days. 7 days after they started working. 14 more men
joined them. How many days will they now take to complete the remaining work?
Options:

2
6 — dms

1 & 3
Sf&h}'ﬁ
e L

-

7 =days
T W 3

Slda}ﬁ
4 % 4

Question Number : 50 Question Id : 7368155706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
20 959 21 Al 3 Ush &IHF H O FW Tohod bl FH UF W & 7 d a1g, 14 3R 989
IR AfAC I 30| 3 Jrehl & HIH B W WA & O Iop fohded Eer o@a?
Options:
o 6 foT
8> fea

i A

2
W?gﬁ?r
8 fea
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Questions: No

Question Numbers: (51 to 60)
Cesticn Label | Comprehiension

Answer the questions given under the passage by choosing the best option for each:

Electronic media is speeding things up and intensifying the complexity of our culture. This
phenomenon. dubbed hyperculture, has trickled down to alter the nature of day-to-day
interactions. with negative consequences for the shy. Those who are not quick and intense
get passed by. The shy are bellwethers of this change. And so it's not surprising that
hyperculture is actually exacerbating shyness. in both incidence and degree. It now takes
an increasingly powerful personality to be recognized. People have to call attention to
themselves in ways that are more and more extreme just to be noticed at all. The shy are
put at a further disadvantage.
Hyperculture brings about "interpersonal disenfranchisement." Simply put, we are
disconnecting from one another. As other people become just e-mail addresses or faceless
voices at the other end of electronic transactions. it becomes easier and easier to mistreat
and disrespect them. The cost of such disconnection is a day-to-day loss of civility and an
increase in rudeness. And the shy are the first to be excluded. bullied or treated in a hostile
manter.
Reaching the limits of our ability to deal with the complexities of our lives. we ourselves
have begun to experience a state of anxiety. We either approach or avoid. And. indeed. we
are seeing both phenomena -- a polarization of behavior in which we see increases in both
aggression, marked by a general loss of manners that has been widely observed. and in
withdrawal, one form of which is shyness. Surveys show that the incidence of shyness has
risen from 40% to 48§%.
Sub questions

Question Number : 51 Question Id : 7368155708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A title that will reflect the content and message of this write-up would be

Options:



, % Cursed are the Shy for the Hyperculture World is not theirs
- % The widening gap between the bully and the shy in hyperculture
- o The shy are marginalized in hyperculture, but we will join them soon

4, % The Shrinking Space for the Shy Means Their Tribe will increase

Question Number : 52 Question Id : 7368155709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The shy suffer in the present-day dominating hyperculture as they are
Options:

, % aggressive. but slow. and excluded in groups

-  slow. defacing. and easy to bully

= % conscious of how the others treat them
4, % more number of people are being pushed into shyness

Question Number : 53 Question Id : 7368155710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When the writer says. “We either approach or avoid.’” he is
Options:
He is making a generalization. without establishing which. he goes on to predict that we
; % might also get into ‘withdrawal® and join the shy.

He is hinting at the middle stages of our transformation in hyperculture. from where we
- % might also get into “withdrawal” and join the shy.

He is describing how anxiety caused by hyperculture has pushed into push or be pushed
-  mode of behavior. which might compel us to “withdraw” and join the shy.

He is predicting how humanity in general would be divided into two groups and how the
4 % (ribe of shy might increase.

Question Number : 54 Question Id : 7368155711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The expression ‘bellwether’ means ‘someone or something that leads others or shows what
will happen m the future.” The shy are bellwethers as

Options:

, % willingly let changes in culture affect them. so that they can show others their future.

- % society makes the slow and the withdrawn play the role

they are the immediate victims of the speedy, the loud and the self-centred and so act as
3 « bellwethers

, » they are slow. less intense and non-aggressive. which are what bellwethers are

Question Number : 55 Question Id : 7368155712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
It has become easier to mistreat and disrespect others as



Options:
there is no interpersonal bond between those who prefer the electronic media for
1 % comununication

> % the people we deal with through electronic media are not people but disembodied voices

the lack of concern for any personal information about the others has made them into
-  ‘objects’

4 % if'we donot do so. others will mistreat and disrespect us

Question Number : 56 Question Id : 7368155713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘incidence and degree’ means
Options:

|+ innumber and intensity

- % events and reactions
3 % events and their nature

4 % innumber and nature

Question Number : 57 Question Id : 7368155714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The writer uses both civility [loss of] and rudeness [increasing]. Civility and rudeness
differ in meaning as
Options:

civility refers to gentle. formal. respectful treatment of others and rudeness refers to
; % deliberate discourtesy

> % civility is related to social behaviour and ‘rudeness’ refers to our personal actions

civility is related to social approach and attitude. while rudeness is related to personality
= « and action

4 % thewriter uses both in the same phrase

Question Number : 58 Question Id : 7368155715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Polarization means

Options:

, w acomplete separation

- % division into positive and negative poles

-  asharp division resulting in two opposing groups

4 % one going northwards and the other going southwards

Question Number : 59 Question Id : 7368155716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The opposite of shy when used normally is

Options:



1 « confident
> % fast
- w oufgoing

4 ® aggressive

Question Number : 60 Question Id : 7368155717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
To mistreat is to
Options:

, w treat badly

o o treat wrongly
- u (reat disrespectfully

4 & treat properly

Question Id : 7368155707 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Cesticn Label | Comprehiension

Answer the questions given under the passage by choosing the best option for each:

Electronic media is speeding things up and mtensifying the complexity of our culture.
This phenomenon, dubbed hyperculture, has trickled down to alter the nature of day-to-
day interactions, with negative consequences for the shy. Those who are not quick
and intense get passed by. The shy are bellwethers of this change. And so it's not
surprising that hyperculture is actually exacerbating shyness, in both incidence and
degree. It now takes an increasingly powerful personality to be recognized. People
have to call attention to themselves in ways that are more and more extreme just to
be noticed at all. The shy are put at a further disadvantage.

Hyperculture brings about "interpersonal disenfranchisement.” Simply put, we are
disconnecting from one another. As other people become just e-mail addresses or
faceless voices at the other end of electronic transactions, it becomes easier and
easier to mistreat and disrespect them. The cost of such disconnection i1s a day-to-day
loss of civility and an increase in rudeness. And the shy are the first fo be excluded,
bullied or treated in a hostile manner.

Reaching the limits of our ability to deal with the complexities of our lives, we
ourselves have begun to experience a state of anxiety. We either approach or avoid.
And, indeed, we are seeing both phenomena -- a polarization of behavior in which we
see increases in both aggression, marked by a general loss of manners that has been
widely observed, and in withdrawal, one form of which is shyness. Surveys show that
the incidence of shyness has risen from 40% to 48%.



Sub questions

Question Number : 51 Question Id : 7368155708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A title that will reflect the content and message of this write-up would be

Options:
1 % Cursed are the Shy for the Hyperculture World is not theirs
> R The widening gap between the bully and the shy in hyperculture

=  I1he shy are marginalized in hyperculture, but we will join them soon

4 R The Shrinking Space for the Shy Means Their Tribe will increase

Question Number : 52 Question Id : 7368155709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The shy suffer in the present-day dominating hyperculture as they are

Options:
1 % aggressive, but slow, and excluded in groups
5 of slow, defacing, and easy to bully

= % conscious of how the others treat them
4 % More number of people are being pushed into shyness

Question Number : 53 Question Id : 7368155710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When the writer says, ‘We either approach or avoid,” he is

Options:
He is making a generalization, without establishing which, he goes on to predict that

| % Wwe might also get into ‘withdrawal’ and join the shy.

He is hinting at the middle stages of our transformation in hyperculture, from where
- % We might also get into ‘withdrawal’ and join the shy.

He is describing how anxiety caused by hyperculture has pushed into push or be
=  Pushed mode of behavior, which might compel us to ‘withdraw’ and join the shy.

He is predicting how humanity in general would be divided into two groups and how
4 % fthe tribe of shy might increase.

Question Number : 54 Question Id : 7368155711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The expression ‘bellwether’ means ‘someone or something that leads others or shows

what will happen in the future.” The shy are bellwethers as

Options:

; % willingly let changes in culture affect them, so that they can show others their future.
- % society makes the slow and the withdrawn play the role

they are the immediate victims of the speedy, the loud and the self-centred and so
= « act as bellwethers



4 R they are slow, less intense and non-aggressive, which are what bellwethers are

Question Number : 55 Question Id : 7368155712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
It has become easier to mistreat and disrespect others as

Options:
there is no interpersonal bond between those who prefer the electronic media for

1 # communication

the people we deal with through electronic media are not people but disembodied
- # Voices

the lack of concern for any personal information about the others has made them into
2  oObjects’

4 % If we do not do so, others will mistreat and disrespect us

Question Number : 56 Question Id : 7368155713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘incidence and degree’ means
Options:
| « In number and intensity

- % events and reactions
= % events and their nature

4 % In number and nature

Question Number : 57 Question Id : 7368155714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The writer uses both civility [loss of] and rudeness [increasing]. Civility and rudeness

differ in meaning as

Options:
civility refers to gentle, formal, respectful treatment of others and rudeness refers to

1% deliberate discourtesy
5> R civility is related to social behaviour and ‘rudeness’ refers to our personal actions

cwvility is related to social approach and attitude, while rudeness is related to
= « Personality and action

4 R the writer uses both in the same phrase

Question Number : 58 Question Id : 7368155715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Polarization means

Options:

{ % @ complete separation

5 R division into positive and negative poles

5 o @ sharp division resulting in two opposing groups



4 % One going northwards and the other going southwards

Question Number : 59 Question Id : 7368155716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The opposite of shy when used normally Is

Options:
1« confident

- % fast

z % outgoing

4 R aggressive

Question Number : 60 Question Id : 7368155717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

To mistreat is to
Options:
| w Treat badly

5 « lreat wrongly
= x lreat disrespectfully

4 u lreat properly

Sub-Section Number: 2
Sub-Section Id: 736815169
Question Shuffling Allowed : No

Question Id : 7368155718 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)
Juestion Label @ Comprehension

Given below is a passage with ten blanks. numbered from 11 to 20. Fill in the blanks by
choosing the correct option given against the corresponding question number:

The valuation of a particularist epistemology is coupled with the claim to possess the
authority to speak on a particular culture’s behalf. In practice that means that only
members of a particular culture can speak on its behalf. As a (11). it was
claimed that only feminist theoreticians had the epistemological authority to write about

(12). Similarly. it was suggested that only black (13) had the right
to write about black (14) and that only Native Americans could tell the

(15) of their people. This insistence that there is (16) difference

in experience and understanding between different (17) of people served to
legitimise and entrench .(18) Culture itself. which enlightened thinkers
perceived as a (19) and constantly interacting and changing phenomenon. was
now rendered (20) and fossilised. It was in the context of the fossilisation of
cultural identity that the issue of cultural appropriation became politicised.

Sub questions

Question Number : 61 Question Id : 7368155719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:
1 % effect

- % rule
3 o result
4 % law

Question Number : 62 Question Id : 7368155720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

, w» girls

o o« Women
= % ladies
4 % maids

Question Number : 63 Question Id : 7368155721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 ® men

5 % Women

5 % priests

4 people

Question Number : 64 Question Id : 7368155722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

, « history

> % geography
= % literature
4 ¥ economics

Question Number : 65 Question Id : 7368155723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:



, % people
> % life
= o stories

4 % films

Question Number : 66 Question Id : 7368155724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 % unfathomable

> % uncountable

- % unmanageable

4  unbridgeable

Question Number : 67 Question Id : 7368155725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

| & Zoups

> % herds
5 % castes
4 % tribes

Question Number : 68 Question Id : 7368155726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

, % Dpartitions

> « divisions
5 % Separations

, = multiplications

Question Number : 69 Question Id : 7368155727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1« fluid

-~ % fixed



5 w flowing

4 % solid

Question Number : 70 Question Id : 7368155728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

, w frigid

o % rigged
- % upright
4 o nigid

Question Id : 7368155718 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Cesticn Label | Comprehiension

Given below is a passage with ten blanks, numbered from 11 to 20. Fill in the blanks
by choosing the correct option given against the corresponding question number;

The valuation of a particularist epistemology is coupled with the claim to possess the
authority to speak on a particular culture’s behalf. In practice that means that only

members of a particular culture can speak on its behalf. As a (11), it was
claimed that only feminist theoreticians had the epistemological authority to write about
(12). Similarly, it was suggested that only black (13) had the
right to write about black (14) and that only Native Americans could tell
the (15) of their people. This insistence that there is (16)
difference in experience and understanding between different (17) of people
served to legitimise and entrench .(18) Culture itself, which enlightened
thinkers perceived as a (19) and constantly interacting and changing
phenomenon, was now rendered (20) and fossilised. It was in the context

of the fossilisation of cultural identity that the issue of cultural appropriation became
politicised.

Sub questions

Question Number : 61 Question Id : 7368155719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:
Options:
1 ® effect

> # [ule
= o result

4 % law

Question Number : 62 Question Id : 7368155720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks by choosing the correct option given against the corresponding
Question number:

Options:

1 % qirls

o« Women

= % ladies

4 #% maids

Question Number : 63 Question Id : 7368155721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:

Options:
1 #® men

= % women

z ® priests

4. people

Question Number : 64 Question Id : 7368155722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:
Options:
|« history

- % geography
= % literature

4 % economics

Question Number : 65 Question Id : 7368155723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Quuestion number:
Options:

| % people

> % life

= " stories

4 % films

Question Number : 66 Question Id : 7368155724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Quuestion number:
Options:



1 % unfathomable
> # uncountable

= % unmanageable

4 « unbridgeable

Question Number : 67 Question Id : 7368155725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:

Options:
1 ¢ groups

-~ % herds
= #® castes

4 % ftribes

Question Number : 68 Question Id : 7368155726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:
Options:

| w Ppartitions

> o divisions

2 ® separations

4 R multiplications

Question Number : 69 Question Id : 7368155727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:
Options:

1« fluid

> % fixed

= % flowing

4 % solid

Question Number : 70 Question Id : 7368155728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding

Question number:
Options:
1 % frigid

5> R rigged



z % upright

4 v Tgid

Sub-Section Number: 3
Sub-Section Id: 736815170
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368155729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

1. In fact. the word lyric is also used in music and cinema to denote “lines of a song™.

2. The lyric was called so as this kind of poem. mostly on love and death. was to be set
to music then by Iyre.

3. A lyric is a fairly short poem which is the expression of strong feelings of thoughts
or perceptions of a single speaker in a meditative manner.

4. Most lyrics are meditation on loneliness by the poet, but lyric can also be dramatic if

it 1s addressed to a specific person.

Though the Iyric 1s spoken by an “I". it need not be the poet himself and the Iyric

must be understood in terms of an imaginary speaker or character.

L

Options:
L 321,54

, » 54321
2 % 12345

4 % 32,145

Question Number : 71 Question Id : 7368155729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of five sentences, numbered 1 to 5, which are not in a
meaningful order. Choose from the options given, the order which will be acceptable
and meaningful:

1. In fact, the word lyric is also used in music and cinema to denote “lines of a
song’.
2. The lyric was called so as this kind of poem, mostly on love and death, was to
be set to music then by lyre.
3. A lyric is a fairly short poem which is the expression of strong feelings of
thoughts or perceptions of a single speaker in a meditative manner.
4. Most lyrics are meditation on loneliness by the poet, but lyric can also be
dramatic if it Is addressed to a specific person.
5. Though the lyric is spoken by an “I°, it need not be the poet himself and the
lyric must be understood in terms of an imaginary speaker or character.
Options:
1« 32,154
> % 94,32,
z % 1,2345

. % 32145

Question Number : 72 Question Id : 7368155730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

1. One day she came into his father’s office and put her hands on the door of a locked
safe.
2. Those who have extraordinary abilities have always attracted people's attention.
Petrova being one of them.
3. She has the unique ability to perceive things with different parts of her skin. and
through solid walls.
4. Later. when given a series of tests by a special commission. she demonstrated her
unique talent.
5. Suddenly she asked her father why he kept so many old newspapers locked away
there.
Options:
; % 43,152

oot ZL5AS
2 x 12345

4 ® 245,13



Question Number : 72 Question Id : 7368155730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not in a

meaningful order. Choose from the options given, the order which will be acceptable
and meaningful:

1. One day she came into his father's office and put her hands on the door of a
locked safe.
2. Those who have extraordinary abilities have always attracted people's attention,
Petrova being one of them.
3. 5he has the unigue ability to perceive things with different parts of her skin, and
through solid walls.
4, Later, when given a series of tests by a special commission, she demonstrated
her unique talent.
5. Suddenly she asked her father why he kept so many old newspapers locked
away there.
Options:
;% 43,152
> « 2,1,04,3
z % 12345

4 % 24513

Question Number : 73 Question Id : 7368155731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. Infrared images detect heat patterns in the clouds and on the ground.
2. A satellite image is an image of the whole or part of the earth taken using artificial
satellites. which are used in cartography. military intelligence and meteorology.
3. Visible light satellite images are photos of what the sky and the ground look like
from space at any given time.
4. Satellite images can either be visible light images. water vapor images or infrared
images.
5. Water vapor images show moisture in the atmosphere. often in the form of clouds.
Options:
;= 2,1.54.3

5 o 2/43.5.1
—

4% 24135



Question Number : 73 Question Id : 7368155731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not in a

meaningful order. Choose from the options given, the order which will be acceptable
and meaningful:

1. Infrared images detect heat patterns in the clouds and on the ground.

2. A satellite image is an image of the whole or part of the earth taken using
artificial satellites, which are used in cartography, military intelligence and
meteorology.

3. Visible light satellite images are photos of what the sky and the ground look like
from space at any given time.

4, Satellite images can either be visible light images, water vapor images or infrared
Images.

5. Water vapor images show moisture in the atmosphere, often in the form of

clouds.

Options:
| % 2,154,3

5 & 24351
5 % 2,4531
4 % 24,135

Question Number : 74 Question Id : 7368155732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence/famous saying. the words/segments of which have been
jumbled up and numbered. Choose the right order of the words/segments from the given
options:

dies for /because /a thing / a man/it /is not necessarily true
1 2 3 4 5 6
Options:
; % 3.6.2.45.1

o o 362415
2 % 3.2.64,15

4 % 345612

Question Number : 74 Question Id : 7368155732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a sentenceffamous saying, the words/segments of which have been
jumbled up and numbered. Choose the right order of the words/segments from the
given options:

dies for /because /a thing / a man / it /is not necessarily true

1 2 3 4 b 6
Options:
; ® 362451

5 & 3,6.24,1,5
s % 3,2,64,1,5
4 % 345612

Question Number : 75 Question Id : 7368155733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence/famous saying. the words/segments of which have been
jumbled up and numbered. Choose the right order of the words/segments from the given
options:

you don't have to/ tell the truth, / anything/ remember/ if you
1 2 3 4 3
Options:
; % 3.3.4.2.1

L

> % 5.1.24.3

2.1.4.3

LA

3 v
4 % 1.3.542

Question Number : 75 Question Id : 7368155733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a sentenceffamous saying, the words/segments of which have been
jumbled up and numbered. Choose the right order of the words/segments from the
given options:

you don't have to/ tell the truth, / anything/ remember/ if you

1 2 3 4 5
Options:
, % 53421

> % 51,243
5 o 52,143
4 % 13542

Question Number : 76 Question Id : 7368155734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Men must be stronger, but its woman who endure.
Options:
, v Menmay be stronger. but it is women who endure.

- % Menmay be stronger. but it is woman who endure.
5 % Men must be stronger. but it is women who endure.

4 % Men may be stronger. but its women who endure.

Question Number : 76 Question Id : 7368155734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical, defective, sentence and there are 4 options given.
One of them is the correct and improved form of the sentence. Choose the one which
improves the given sentence:

Men must be stronger, but its woman who endure.
Options:
; « Men may be stronger, but it is women who endure.

- % Men may be stronger, but it is woman who endure.
= % Men must be stronger, but it is women who endure.

4 % Men may be stronger, but its women who endure.

Question Number : 77 Question Id : 7368155735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Infliction of cruelty in a good conscience is delight for moralists.
Options:

, % The infliction of cruelty in a good conscience is a delight to moralists.

-  The infliction of cruelty with a good conscience is a delight to moralists.

- % The infliction of cruelty in a good conscience is delight to moralists.

, % The infliction of cruelty with a good conscience is a delight for moralists.

Question Number : 77 Question Id : 7368155735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an ungrammatical, defective, sentence and there are 4 options given.
One of them is the correct and improved form of the sentence. Choose the one which
improves the given sentence:

Infliction of cruelty in a good conscience is delight for moralists.

Options:

, % The infliction of cruelty in a good conscience is a delight to moralists.
5 o The infliction of cruelty with a good conscience i1s a delight to moralists.

z % The infliction of cruelty in a good conscience is delight to moralisis.

4 R The infliction of cruelty with a good conscience 15 a delight for moralisis.

Question Number : 78 Question Id : 7368155736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

You can't wait with inspiration but have to go before it with a club.
Options:
, ® Youcan't wait for inspiration but have to go before it with a club.

-  Youcan't wait for inspiration but have to go after it with a club.
- % You can't wait with inspiration but have to go after it with a club.

4 % You can't for inspiration but have to go above it with a club.

Question Number : 78 Question Id : 7368155736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical, defective, sentence and there are 4 options given.
One of them is the correct and improved form of the sentence. Choose the one which
impraves the given sentence:

You can't wait with inspiration but have to go before it with a club.
Options:
1 % You can't wait for inspiration but have to go before it with a club.

5 of You can't wait for inspiration but have to go after it with a club.
2 R You can't wait with inspiration but have to go after it with a club.

4 R You can't for inspiration but have to go above it with a club.

Question Number : 79 Question Id : 7368155737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Spoon feeding on the long run teaches we nothing but shape of the spoon.
Options:
, # Spoon feeding on the long run teaches us nothing but shape of the spoon.

> % Spoon feeding in the long run teaches us nothing but shape of the spoon.

-  Spoon feeding in the long run teaches us nothing but the shape of the spoon.

4 % Spoon feeding on the long run teaches us nothing but the shape of the spoon.

Question Number : 79 Question Id : 7368155737 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Given below is an ungrammatical, defective, sentence and there are 4 options given.
One of them is the correct and improved form of the sentence. Choose the one which
improves the given sentence:

Spoon feeding on the long run teaches we nothing but shape of the spoon.
Options:
1 % Spoon feeding on the long run teaches us nothing but shape of the spoon.

5 R Spoon feeding in the long run teaches us nothing but shape of the spoon.
3 Spoon feeding in the long run teaches us nothing but the shape of the spoon.

4 R Spoon feeding on the long run teaches us nothing but the shape of the spoon.

Question Number : 80 Question Id : 7368155738 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

You must cut all flowers but vou cannot kept Spring from coming.
Options:
, % Youmay cut all the flowers but you cannot keep Spring from coming.

- % You have to cut all flowers but you cannot keep Spring from coming.
-  You can cut all the flowers but you cannot keep Spring from coming.

4 % You can cut all flowers but you cannot kept Spring from coming.

Question Number : 80 Question Id : 7368155738 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Yes

Yes

Yes



Given below is an ungrammatical, defective, sentence and there are 4 options given.
One of them is the correct and improved form of the sentence. Choose the one which
improves the given sentence:

You must cut all flowers but you cannot kept Spring from coming.
Options:

{ % You may cut all the flowers but you cannot keep Spring from coming.
5> R You have to cut all flowers but you cannot keep Spring from coming.

z You can cut all the flowers but you cannot keep Spring from coming.

4 R You can cut all flowers but you cannot kept Spring from coming.

Question Number : 81 Question Id : 7368155739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Many words having been spoken, peace was still unaccomplished.
{into active voice]
Options:
, % [They} spoke many words but did not accomplish peace.
- « [They] have spoken many words but still did not accomplish peace.

- % [They] had spoken many words but still did not accomplish peace.

4 % [They] speak many words. but fail still to accomplish peace.

Question Number : 81 Question Id : 7368155739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms
the given sentence :

Many words having been spoken, peace was still unaccomplished.

{into active voice}

Options:
| % [They} spoke many words but did not accomplish peace.

> « [They] have spoken many words but still did not accomplish peace.
= % [They] had spoken many words but still did not accomplish peace.

4 R [They] speak many words, but fail still to accomplish peace.

Question Number : 82 Question Id : 7368155740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

“Hi there, wait! I've been chasing yvou,” said a stranger to me. {Report this}
Options:
, » DBeckoning me. asking me to wait a stranger declared that he had been chasing me.

> % A stranger wished me. held me back and announced that he was chasing me.
5 % A stranger spoke to me and halting me said that he has been chasing me.

Beckoning me uncivilly. and holding me back, a stranger audaciously Declared that he had

4  Dbeen chasing me

Question Number : 82 Question Id : 7368155740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms
the given sentence :

“Hi there, wait! I've been chasing you,” said a stranger to me. {Report this}

Options:

; w Beckoning me, asking me to wait a stranger declared that he had been chasing me,
- % A stranger wished me, held me back and announced that he was chasing me.

= % A stranger spoke to me and halting me said that he has been chasing me.

Beckoning me uncivilly, and holding me back, a stranger audaciously Declared that he
4  had been chasing me

Question Number : 83 Question Id : 7368155741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Pranab turned down the offer {of Chief of Governmentj. He wanted to help the tribe
of war widows. {into a rejected conditional}

Options:
, « Had Pranab not turned down the offer. he would have been able to help the war widows.

- » Had Pranab not turned down the offer. he would have helped the war widows.
- % Has Pranab not tuned down the offer. he would have helped the war widows.

, % Has Pranab not turned down the offer. he would have been able to help the war widows
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms
the given sentence :

Pranab turned down the offer {of Chief of Government}. He wanted to help the tribe
of war widows. {into a rejected conditional}

Options:
Had Pranab not turmed down the offer, he would have been able to help the war

1« widows.
> R Had Pranab not turmned down the offer, he would have helped the war widows.

2 R Has Pranab not turned down the offer, he would have helped the war widows.

Has Pranab not turmmed down the offer, he would have been able to help the war
4 % widows

Question Number : 84 Question Id : 7368155742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

It's time to de away with all of these old tax records and clean up your bedroom.
Options:
, % It'stime to discard all of these old tax records and sweep your bedroom.

-  I's time to discard all of these old tax records and tidy up your bedroom.

5 w It's time to reject all of these old tax records and straighten your bedroom.

, % It's time to dismiss all of these old tax records and empty your bedroom
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Read the sentence given below. Pay atiention to the words/phrases/segments in /#alics.
Choose the appropriate ONME WORD substitutes for the phrases and clauses #dalicized.

It's time to do away with all of these old tax records and c/ean up your bedroom.
Options:
1 % It's time to discard all of these old tax records and sweep your bedroom.

5 o It's time to discard all of these old tax records and tidy up your bedroom.
2 ® It's time to reject all of these old tax records and straighten your bedroom.

4 R It's time to dismiss all of these old tax records and empty your bedroom
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Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses ifalicized:

My new dress fell apart in the washing machine and I called off the rest of my
orders placed online

Options:
My new dress disintegrated in the washing machine and I cancelled the rest of my orders
, « Dblaced online.

My new dress collapsed the washing machine and I cancelled the rest of my orders placed
> % online.

My new dress vanished in the washing machine and I cancelled the rest of my orders
- % Placed online.

My new dress got stuck in the washing machine and I cancelled the rest of my orders
4, % placed online.
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Read the sentence given below. Pay atiention to the words/phrases/segments in /#alics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses ifalicized.

My new dress felfl apart in the washing machine and | called off the rest of my

orders placed online
Options:
My new dress disintegrated in the washing machine and | cancelled the rest of my

| « orders placed online.

My new dress collapsed the washing machine and | cancelled the rest of my orders

5> R placed online.

My new dress vanished in the washing machine and | cancelled the rest of my orders
= % Pplaced online.

My new dress got stuck in the washing machine and | cancelled the rest of my orders
4 % Pplaced online.

Question Number : 86 Question Id : 7368155744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Given below is a sentence which divided into four parts labelled a, b. c. and d. One of
these parts contains an error. Choose the part that has the error:

If lending money / up interest is a sin, / isn’t borrowing too/ one?
A B C D
Options:



1% A
2.« B
3. % C
4. % D
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Given below is a sentence which divided into four parts labelled a, b, ¢, and d. One
of these parts contains an error. Choose the part that has the error:

If lending money [/ up interest is a sin, / isn't borrowing too/ one?
A B C D

Options:

1 ® A

2.« B

T W 5

4 W D

Question Number : 87 Question Id : 7368155745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. c. and d. One of
these parts contains an error. Choose the part that has the error:

One can / question a judgement, / but nor a judge, / at least in public.
A B C D

Options:
1 #® A

E_WB

z ¢ C
4 % D
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Given below is a sentence which divided into four paris labelled a, b, ¢, and d. One
of these parts contains an error. Choose the part that has the error:

One can / question a judgement, / but nor a judge, / at least in public.

A B C D
Options:
1 & A

2_%5



z ¢ C
4 % D
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Given below is a sentence which divided into four parts labelled a. b. c. and d. One of
these parts contains an error. Choose the part that has the error:

“Many / can be said / on both sides,”/is a famous quotation from literature,
A B £ D

Options:
1.4 A
o W B
3. % C

4 % D
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Giiven below is a sentence which divided into four paris |abelled a, b, c, and d. One
of these parts contains an error. Choose the part that has the error:

“Many / can be said / on both sides,"/is a famous quotation from literature.

A B C D
Options:
1.¢ A

E_WB
E_WC
4 % D
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Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

Itis to help than offer pity: after all, actions speak than words.
Options:
, » good: good

> % WOIse: worse
- % better: good

4 « Detter: better
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Fill in the blanks with the correct form of idioms /proverbs by choosing the correct
option given.

It is to help than offer pity; after all, actions speak than words.
Options:
1 % good; good

- % WOISE, WOrse

2 % better; good

4 « Detter; better

Question Number : 90 Question Id : 7368155748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

Don’t a by its cover.

Options:
, w buy: policy

5 % choose: dress

5 % gauge:magazine

4  Judge: book
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Fill in the blanks with the correct form of idioms /proverbs by choosing the correct
option given.

Don't a by its cover.

Options:
1 % buy; policy

> % Choose; dress
= % gauge; magazine
4 « Judge; book
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Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

A friend's is better than a fool's .

Options:
, % tears: happiness

5  Town: smile

5 % Insult: tribute

4 % MOIyes

Question Number : 91 Question Id : 7368155749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

A friend's is better than a fool's .

Options:

, = ftears; happiness
> o frown; smile

z % Insult; tribute

4 ® NO; yes
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Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

An injury is better than an injury

Options:
| forgiven: revenged

o % received; given
- % given: tolerated

4 % sold: bought

Question Number : 92 Question Id : 7368155750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

An injury is better than an injury




Options:
1 forgiven; revenged

5 R received; given
2 ® given; tolerated

4 R sold; bought
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A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Aptitude
Options:
, w Expertise

-~ % Power
3 « Inclination
4 % Affraction
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A key word is given below. Choose the word closest to it in its meaning {synonym}.
Pay aftention to how the word would be used to, if required:

Aplitude
Options:
1 % Expertise

> % Power
= « Inclination
4 % Aftraction

Question Number : 94 Question Id : 7368155752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Legitimate (Adjective)

Options:
1 ® Correct

> « Lawful

z % Fair



4 % Real
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A key word is given below. Choose the word closest to it in its meaning {synonym}.
Pay attention to how the word would be used to, if required:

Legitimate (Adjective)
Options:

1 ® Correct

> « Lawful

= # Fair

4 % Real

Question Number : 95 Question Id : 7368155753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Praise (Verb)
Options:

, w Flattery

-  Compliment

5 % Clapping

4 % Admiration

Question Number : 95 Question Id : 7368155753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A key word is given below. Choose the word closest to it in its meaning {synonymy}.
Pay attention to how the word would be used to, if reqguired:

Praise (Verb)
Options:
1 % Flattery

> « Compliment
= % Clapping

4 % Admiration
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A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym;} of the key word:

Dull
Options:
L« Lively

5 % Merry

= % Pleased

4 % Optimistic
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A key word is given below. Choose the word which indicates the contradictory or
opposite meaning {antonym} of the key word:

Dull

Options:

|« Lively
> % Merry
= % Pleased

4 ® Optimistic
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A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

Strange
Options:

1 % Usual

- % Conumnon
2 « Normal

4 % Regular
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A key word is given below. Choose the word which indicates the contradictory or
opposite meaning {antonym} of the key word:

Strange
Options:



1 ® Usual
> % Common
= « Normal

4 R Regular
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Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:
| « Parlimentary

- % Pecuniary

- » Planetary

4 % Plenary

Question Number : 98 Question Id : 7368155756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose

the word that has been spelled wrongly.
Options:

| « Parlimentary

5 R Pecuniary

z ® Planetary

4 R Plenary
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Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:
1 # Nonviolence

> % Opulence

= % Pestilence

4 « Prevailence
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Given below is a set of four words. One of the four words is spelled wrongly. Choose
the word that has been spelled wrongly.

Options:

1 # Nonviolence

> ® Opulence

= # Pestilence

4 « Prevailence
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Given below is a set of four words. Choose the word with the correct spelling:
Options:

1 % Irupt

5 o Interrupt

- % Nanocorrupt

4 % Uncorupt

Question Number : 100 Question Id : 7368155758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct spelling:

Options:
1 % lrupt
5 « Interrupt

= % NMNanocorrupt

4 % Uncorupt
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Question Number : 101 Question Id : 7368155759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arun teaches only Physics and Mathematics. He doesn't teach the students who want to
study Chemistry with Physics and Mathematics. He might have taken such a decision
because :
Options:

, » Heis not interested in teaching.

- « Heis not interested or good at teaching Chemistry.

- % He wants some other faculty to teach Chemistry to his students.

, % Hedoesn't want to be known as a Chemistry Teacher.
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Correct: 1 Wrong: 0.25
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After completing his higher secondary with science background. he is going to take
admission in an Engineering college. He might have taken such a decision because ;

Options:

; » He is good at studies.

>  He wants to do engineering.

- % He has no other options left with him.

4, % His parents want him to do engineering.
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Question Number : 103 Question Id : 7368155761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

You are a doctor. While treating a person, you came to know that he is a Criminal. What
will you do?

Options:

1 % Beat him and lock him in the room.

-  TIreat him well and then inform the police.

- % Wwon't do anything and let him go.

4 % Treat him well and let him go.

Question Number : 103 Question 1d : 7368155761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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You have travelled in an auto yesterday night. You lost your bag accidently in the auto.
You went to the police and lodged a complaint. Next morning,. the auto driver came asking
for you and returned vour bag. The bag is as it is. What will you do?

Options:
, % Beathim up with your friends.

- % Beathim up and call the police.

= % Thank him and send him back.
4 + Thank him and call the police so that you can take the complaint back.
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Correct : 1 Wrong: 0.25
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Question Number : 105 Question Id : 7368155763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

You are not able to come to the office on tune for past few days for some valid reasons.
Your manager fired you without even asking for a reason. What will you do?

Options:

, % Nothing.

- % Inform the police.

-  Talk to the manager for once to explain your part.

, = Never talk to the manager since he fired you.
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Question Number : 106 Question Id : 7368155764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You are returning late in the night. You saw an old woman walking alone in a dark street
and shivering. What will you do?
Options:

, w Askher whether you can drop her to her destination.

o « Ask her where she wants to go and if not required. arrange some woolen clothes for her.



5 % Askher and go away.

4 % Won't ask anything.
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Question Number : 107 Question Id ;: 7368155765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The gutters of your locality are not clean. What will you do?

Options:
, w Clean it by yourself.

- % Tellthe people of the locality to get it cleaned.

-  Tlake the people to the concerning authority and tell them about the issue.

4 % Leave it as it is.
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Statement: A Novel book has been made compulsory in the schools for classes above 8th
standard.

Argument 1: Students are forced to study novels.
Argument 2: Novels are not meant to be studied.

Options:
L= Argument 1 is strong.

5 % Argument 2 1s strong.

- % Boththe Arguments are strong.

4  Neither of the Arguments are strong.
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Statement: To error. is human.

Argument 1: Humans cannot make errors.
Argument 2: Error is a way to learn more.

Options:
, w Argument 1 1s strong.

o o Argument 2 1s strong.

- » DBoththe Arguments are strong.

4 % Neither of the Arguments are strong.
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Statement: The train fares were hiked by the Government in the new budget.

Argument 1: Reducing fares will lead to agitation amongst the society.
Argument 2; Whatever the government do is for the betterment of the society.
Options:

L= Argument 1 is strong

5 % Argument 2 1s strong

- % Boththe Arguments are strong

4  Neither of the Arguments are strong

Question Number : 110 Question Id : 7368155768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 111 Question Id : 7368155769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Statement: The Police solved the loot case which happened in 2001, 15 vears back.

Argument 1: Police is very efficient.
Argument 2: There was lack of evidence which led the case to a 15 years delay.

Options:
L= Argument 1 is strong.
_ . p T T
5 o Argument 2 is strong.
- % Boththe Arguments are strong.

4, % Neither of the Arguments are strong.

Question Number : 111 Question Id : 7368155769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fee 1 ey A 15 A1 ugel 2001 & gV g F0s Hr et Forsw o

a® 1: I Frfr FEEH g
d% 2: |adl T HAT & FROT, FH 15 FEAl dh Tl

Options:

, ® o 13 gl

o  OF 2 BIF Bl

5 % Gl A% O Gl

4w @5 8 TF 39 AL B

Question Number : 112 Question Id : 7368155770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Statement: There is a mass agitation against the Reservation Policy in the nation.

Argument 1: The Reservation Policy in the nation needs to be reconsider.
Argument 2: Nation's people have nothing to work on.
Options:

| Argument 1 1s strong.

5 % Argument 2 is strong.
5 % Boththe Arguments are strong.

4, % Neither of the Arguments are strong.

Question Number : 112 Question Id : 7368155770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



FUA : aaHT T FRETT AT FT ol S w1 A a0y & wr 2

d® 1: 3 A RGO HAifd O qAGTR &7 Aaasddr ¢
o 2; 89 & W9l & UM 37 SIS HH Aer 997 gl
Options:

| T 139l

o % OF 2 B gl

5 % Gl % BN Gl

4 % T3 Ok T AR B

Question Number : 113 Question Id : 7368155771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Abhishek is the brother of Shivika's sister. The son of Shivika is Abhishelk's
Options:

1 % Cousin

-~ % 5Son

-  Nephew

4 % Niece

Question Number : 113 Question Id : 7368155771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hieges fifgwr &7 aga &1 @2 ¢ f9fawr &1 Jer Af8F F v F=r 57
Options:

, % TERT #IS

o ® ol

3 HST

4 ® ST

Question Number : 114 Question Id : 7368155772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The daughter of your daughter is of your sister's mother's husband.

Options:
1 % Grandmother

> % Granddaughter

-  Great Granddaughter

4 % Great Grandmother

Question Number : 114 Question Id : 7368155772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
T & 7 &€, JOhr a5 i AT F ofg i F=w £

Options:

, % G
5 % il
3, TR
4 % TEGEI

Question Number : 115 Question Id : 7368155773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Pointing towards a photograph. Nimish said. "The father of this person is the brother of
husband of my maternal aunt". What is the relation Nimish's mother's father is having with
the person in the photograph?

Options:

1 ® Son

> o Grandson

%z % Maternal Uncle

4 % Paternal Uncle

Question Number : 115 Question Id : 7368155773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ueh oA 3N SART #d gU AfHAT & &, "5 edfad & Odr A% AT & 9fd & q13 §
s & & & ofa &1, 7 7 Gaw a7v @afFa & T 999 57

Options:

1 ® oI

2. Sl

= ® HTAT

4 ® ==l

Question Number : 116 Question Id : 7368155774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Chintan is the only son of Ankit's mother's husband's father. How many Paternal Uncles
does Ankit have?

Options:
1.+ 0

2.%]
3_%3

, % Cannot be predicted



Question Number : 116 Question Id : 7368155774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ferciet 3ifehcd &7 AT & 9fd & 0T &1 Shellar der §l 3fehd & Her fhcdel =m=m §7?

Options:
1. ¢ 0

2_$3']

3_233
L% a@ﬂﬁaaﬁﬁﬁmmm

Question Number : 117 Question Id : 7368155775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Anoop is the brother of the wife of your mother's only son. The
mother of Anoop is of vour son.

Options:

1 % Mother

> % Sister

= « Grandmother

4 % Nothing

Question Number : 117 Question Id : 7368155775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3T YT AT & Sahdld a¢ &l Teall & HAS gl 37T T AGT 396 98 & &

Options:

1 % HIdr

5> % oo

3. @A

4% 30 ot eIt

Question Number : 118 Question Id : 7368155776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the given alternatives, one of the numbers is dissimilar from the other given alternatives.
Find the one which 1s dissimilar.

Options:

1 « 169

> % 156
3 % 143
4 % 182

Question Number : 118 Question Id : 7368155776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
few gu fawedt @, v TEaT Hea U 39 el & 39AE tl a7 9Er AT & ST
AT gl

Options:
1« 169

> % 156
s % 143
4 % 182

Question Number : 119 Question Id ;: 7368155777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the odd one out from the given alternatives.
Options:

1 % Jack

- x King

- % Queen

4 o Ace

Question Number : 119 Question Id : 7368155777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
forafafaa & & favm & 9]
Options:

1 % 30

o W EIFEIR
2 ® TATH
4 o 7

Question Number : 120 Question Id : 7368155778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which one of following keywords/phrases differ from the others in the given options?
Options:

1 ®# MAKE

> ® TAKE

3 « SAKE

4 ®8 CAKE

Question Number : 120 Question Id : 7368155778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Trafafea # & Sl #eg asciaerny @3 av 3w fawedr d d 369 87



Options:
; ® MAKE

> % TAKE
= « SAKE
4 % CAKE

Question Number : 121 Question Id : 7368155779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the given alternatives. one of the numbers is dissimilar from the other given alternatives.
Find the one which is dissimilar.

Options:

;% 210

> % 182
s % 156
i w22

Question Number : 121 Question Id : 7368155779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T v @Awedr F ¥, U OEAT ¥ fAdeul ¥ FOA £ 9 9%aT A9 &1 S W9AE o

Options:

1 ® 210
- % 182
= % 156
4 o 224

Question Number : 122 Question Id : 7368155780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the odd one out from the given alternatives.
Options:

, w Virendra Sehwag

- % Sachin Tendulkar

5 = Ajit Agarkar

4 + Bhuwaneshwar Kumar

Question Number : 122 Question Id : 7368155780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
o2 a7 Aaedr O T8 &7 AT &1
Options:

, % dRg dgaer




z % 3Sld 3HIRET

4 o TIRRG

Question Number : 123 Question Id : 7368155781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The age of a Ashish 1s 4 times that of Rajeev. Five years ago Ashish was 9 times as old as
Rajeev was at that time. The present age of Ashish is

Options:

1w 32 years

5 % 42 years

5 % 44 years

4 % 34years

Question Number : 123 Question Id : 7368155781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

el 1 R Teita & WY & 4 I 5l U A gl Al f1 3 el 6 39 w6
&1 A &1 9 T o | 3 FT adAe g A geEl e

Options:

1« 32 "

> % 42 |reT

z % 44 "

4 ® 34 G

Question Number : 124 Question Id : 7368155782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ajit and Vivek can do a work in 20 and 30 days respectively. In how many days they
together will do the same work?

Options:

, % 3days

> % 10days

18 -
5 o 12 days

4 ® 43 days

Question Number : 124 Question Id : 7368155782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



3efia 3R fads v & &7 sheen: 20 3R 30 G & 9 o od 81 @ Te 69 39 &
&l fehcet fea & 9 &T @2

Options:

1 ® Sﬁﬂ

2 % 10 f&a

3 v 12 e

g % 43T

Question Number : 125 Question Id : 7368155783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The LCM and HCF of two numbers are 2097 and 27 respectively. If one number is 297,
find the other.

Options:

1 « 198

> % 189
3 % 234
4 % 778

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 125 Question Id : 7368155783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ar §EIHT & FHcdA SHAYA 3R Fecadd GAdaE wA 2097 3R 27 81 A v "=
297 &, @ gulr 9@ & A fiEw

Options:
1.« 198

> % 189
2 % 234
g W 178

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 126 Question Id : 7368155784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The difference between a number and its three-fifth is 12. What is the munber?
Options:

1 *® 12

2« 30

-2

3_233

o

4 % 35

Question Number : 126 Question Id : 7368155784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

T TEAT R 396 350 AT w1 AW 12 §l 95 FEdm a4 o7
Options:

1 % 12

2 ¢ 30

z ® 32

4 % 9O

Question Number : 127 Question Id : 7368155785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If speed of a boat in still water is 6 kmph and speed of the stream is 3 kmph. Then what
will be the speed at downstream?

Options:

, % 5kmph
o o 9 kmph
- % 3kmph

4 % 18kmph

Question Number : 127 Question Id : 7368155785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

afe feer ueh # @1g & 71fa 6 fFaveer &, 3R aga &1 afa 3 feAveer §, ar seyarE A
ot 1 atfa =ar gref?

Options:

| % 5 frareer

o @ 9 fr.Heer
2 % 3 6 Reaieer
. % 18 fraveer

Question Number : 128 Question Id : 7368155786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pick the odd one out from the series

= ><|— -+ |+ — X
3 — | >< == = -+
£y B L= =]
Options:
1.%?_\.
> % B
3.%':

4.« D



Question Number : 128 Question Id : 7368155786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

& g& Aofr F ¥ B A IR

Options:
1 # A

o W B
o W C
4.« D

Question Number : 129 Question Id ;: 7368155787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pick the odd one out from the series

5 3ja 3ls N 2
2 i5 | = 2a 1 an | & 16
£, (0] = o
Options:
1 ® A
o W B
3¢ C
4 % D

Question Number : 129 Question Id : 7368155787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

& g Aol & ¥ e A o

o I3 pa N b= 5] = 2

Options:
1 & A

2_235
3 ¢ C
4 % D



Question Number : 130 Question Id : 7368155788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pick the odd one out from the series

B AIS

Options:
1 ® A

2_$$B
3. % C
4. ¢ D

Question Number : 130 Question Id : 7368155788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

& g§ Aof F ¥ B A IR

SN =

i B [ (]

Options:
1 & A

o W B
T W C
4« D

Question Number : 131 Question Id : 7368155789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pick the odd one out from the series

—
—
—

Options:
1 & A

E_QB
z % C
4« D



Question Number : 131 Question Id : 7368155789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& g& AN F ¥ Bt F o -

T T
4 B s =
Options:
1 % A
> % B
= # C
4.« D

Question Number : 132 Question Id ;: 7368155790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pick the odd one out from the series

XIOAID

a " c [+

Options:
1 % A
>« B
3. % C
4 % D

Question Number : 132 Question Id : 7368155790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& g Aol 3 ¥ Bt ¥ I

Options:
1 A

>« B
3_23 C
4 * D



Question Number : 133 Question Id : 7368155791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If < denotes =, = denotes <. + denotes -. - denotes x and $ denotes = then which one of the
following is not true?

Options:
, ® 5-8=20-2

> o 6-4%4=2-10

s % 5+8>5-3

&

4 % 8-3<5x4

Question Number : 133 Question Id ;: 7368155791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT < w TS, PR AT <, VY RAT Y, I X md§ F T =F, ar
Trafafad # O Siaar 9cg a8l 87
Options:

1. % 5-8=20 -2

> o 6 -4 x 4=2-10
s % 5+8>5-3
4 % 8-3<5x4

Question Number : 134 Question Id : 7368155792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If Mango is called onion. onion is called mouse, mouse is called water and water is called
machine. then which one of the following will be considered as a vegetable?

Options:
, » Mango

> % Onion
= % Water
4 « Mouse

Question Number : 134 Question Id : 7368155792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afe 31A T ST, TS H =gl =g R e, 3R Ol @ #dfe wed 8, e A O e
U ool T GaAT [GAT ST 7

Options:
1. R HIH

> ® A

3_&31—-“??[
49-"%-'—



Question Number : 135 Question Id : 7368155793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A cube is painted red on all faces is cut into 8 small cubes of equal sizes. How many cubes
are painted in one face only?

Options:
1 ® 1
o W i
T W 8

4.« 0

Question Number : 135 Question Id : 7368155793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IR TR GaT T Gl aE T AT 97 oY 8 aXE gal & dlsl ong, af hde 0 ge
BT, 5w &% v avwm § T o9 gEm?

Options:

L

2_332
T ot
4 ¢ 0

Question Number : 136 Question Id : 7368155794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a language KITE is written as NLWH then WATER will be written as

Options:

, ® QGNRK
> « ZDWHU
z # PMINO
4. % RREDF

Question Number : 136 Question Id : 7368155794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T f@9w smr #, KITE &t NLWH for@r =imar &, ar WATER &1 &g ya ©@r areen
Options:
1 ® QGF‘JRK

- « ZDWHU
2 % PMJNO
4 % RREDF

Question Number : 137 Question Id : 7368155795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
In a language APPLE is written as ZOOKD then AZIMO will be written as

Options:
, ® POOSE

, « ZYHLN
s % KKHLT
4 % RREDF

Question Number : 137 Question 1d : 7368155795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afe Tt amar & APPLE &1 ZOOKD for@r Jmar §, ar AZIMO & 79 v forar smeem

Options:
, ® POOSE

> « ZYHLN
5 % KKHLT
4 % RREDF

Question Number : 138 Question Id : 7368155796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the next terim of the series.
28.222628.1222,

Options:
1« 2028

5 % 2248
3 % 2448
4 % 2228

Question Number : 138 Question Id : 7368155796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Aofl & T U FTd hIfar
28,222 .628,1222,

Options:
1« 2028

> % 2248
5 % 2448
4 % 2228

Question Number : 139 Question Id : 7368155797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Find the next term of the series.
6.9 12 18, 18, 27. 24,

Options:
1 % 21
o> % 24
3. ¢ 36
4 % 30

Question Number : 139 Question Id : 7368155797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Sofr &7 39T O AT e
6,9,12,18,18,27,24,
Options:

1 % 21

- # 24

3. ¢ 36

Question Number : 140 Question Id : 7368155798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the next term of the series.
5.4.31.60. 129,

Options:

1 ® 201
5 o212
- % 229

4 % 167

Question Number : 140 Question Id : 7368155798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Aofl ST 3T I AT Pt

9,4,31,60,129,

Options:
1 ® 201

5 o212
3 % 229
4 % 167

Question Number : 141 Question Id : 7368155799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Find the next term of the series.
00, 108.117. 126,

Options:
1 ® 130
> % 137

3 ¢ 135
4 ® 145

Question Number : 141 Question Id : 7368155799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Aoft &1 309TeT 9g AT B
99,108,117,126,__

Options:

;% 130

> % 137

5 v 135

4 #® 145

Question Number : 142 Question Id : 7368155800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the next term of the series.
35.73,111, 149, 187,

Options:

;% 192
> ® 202
5 % 222
i #7225

Question Number : 142 Question Id : 7368155800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Aofl &1 I Ug AT ST
35,73,111,149,187,

Options:
;% 192

5 % 202
3 % 222
4 & 225

Question Number : 143 Question Id : 7368155801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



What will be the value of p and q?
Tpt34g=13
32p~T7q=34

Options:

| % p=56.q=34

5 % p=1.2.=9.03
5 v P=1.02.9=0.171
4 % P=23,4=89

Question Number : 143 Question Id : 7368155801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

p 3 q FT AT AT FfeEA?
7p+349=13

32p+7q=34

Options:

1 % p=56, q=34

5> % p=1.2, g=9.03

5 « P=1.02, g=0.171

4 % P=23, q=89

Question Number : 144 Question Id : 7368155802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will be the value of a/b?
23a/34b=112/78
Options:
1 ® 6.34
5 o 2112
= % 1.067

4 % 8.99

Question Number : 144 Question Id : 7368155802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
alb @1 Al AT HITFA?

23ai34b=112/78
Options:
; % 6.34

5 #2112
s % 1.067



4 % 8.99

Question Number : 145 Question 1d : 7368155803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If a=100.2 and b=8.1 then what will be the value of (a+h)*?

Options:
1 « 11728.89

> % 78.98
s % 7764.89
4 % 1234211

Question Number : 145 Question Id : 7368155803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afg a=100.2 3i¥ b=8.1 &, T (a+b)? &1 AT =T EEN?

Options:
1« 11728.89

> % 78.98
5 % 7764.89
4 % 1234211

Question Number : 146 Question Id : 7368155804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If (101b)*2=81.4, What will be the value of b ?

Options:
; % 101

> % 814
5 % 6625.96
4 « 65.60

Question Number : 146 Question Id : 7368155804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
afe (101b)"%=81.4 &, df b &1 #H FaT gN?

Options:
;% 101

> % 81.4
5 % 6625.96
4 « 65.60

Question Number : 147 Question Id : 7368155805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



If a=231.3+4b and b=0.3324+3a then find the value of a and b?
Options:
1 o 21.14,63.11

, % 23.11,98.23
3 x 65.22,12.43

4 % 23.44.19.08

Question Number : 147 Question Id : 7368155805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A a=231.3+4b 3R b=0.3324+3a &, @r a 3R b =1 A= 7T F=A?
Options:

|« 21,14, 63.11

o % 23,11, 9823

2 % 65.22, 12.43

4 % 23.44,19.08

Question Number : 148 Question Id : 7368155806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the value of x and y?

2x + 3y =65 and 9x + 4y =44
Options:

|« -128/19.497/19

% 19/497.128/19

o % 778/19.786/19

w 887/32.674/12

Question Number : 148 Question Id : 7368155806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
X Ud y & AT A9 HIAT?
2X + 3y =62 and 9x + 4y =44

Options:
| -128/19,497/19

- % 10/497,128/19
5 % 778/19,786/19
4 % 887/32,674/12

Question Number : 149 Question Id : 7368155807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Five boys are sifting in a row for a group photograph. Shubham is left of Manav and right
to Rishi. Ritesh is sitting right to Manav. Paras is between Manav and Ritesh. Who is
sitting in the middle of the photograph?

Options:
1 % Rishi
> % Shubham

= « Manav
4 % Ritesh

Question Number : 149 Question Id : 7368155807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U WIHeE BT H I O5h U $AX # 93 §U o] YHA Aldd F 9 6T R KT &
e 3R ¢l R A & g HR doT g3 &, IR Aledd HY Rawr & & & dor g
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Options:
| % W

o W aai I

= o dHlddd
4 iiﬁ%r

Question Number : 150 Question Id : 7368155808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the next term of the series.
360.323.288.255,

Options:
1 ® 123

> % 225
5 o221
4 % 220

Question Number : 150 Question Id : 7368155808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AU T AT 9g AT
360,323,288,255,

Options:
1 % 123

> % 225
3 o 224
4 % 220
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Question Number : 151 Question Id : 7368155809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who acts as the ex-officio Chairman of Rajya Sabha?

Options:

1 % Home Minister
- % Prime Minister
3 % President

4 + Vice President

Question Number : 151 Question Id : 7368155809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T T & T A A e Fh G 82
Options:

1n A

o ®% WTAHAD

- ® Usgafd

4 39X quiﬁ

Question Number : 152 Question Id : 7368155810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

How many members are nominated by the President of India to Rajya Sabha?
Options:

1 « Twelve

5 % Twenty



5 x Fifty
Thirty

4 ®

Question Number : 152 Question Id : 7368155810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A=A H IsgUlad gany fhds Heed forged e S 87
Options:

o HRE

o % N

g 8wy

4_%3#‘5-

Question Number : 153 Question 1d : 7368155811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What is the mininmim age required to become a member of Lok Sabha?

Options:
. ® 35 years

5 % 40 years
5 % 30 years
4 25 years

Question Number : 153 Question Id : 7368155811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
cilh THAT T TETA dolal & oeldH H fohclall 572

Options:

{ % 35 @9
> % 40 a§
= % 30 a§
4« 25 a9

Question Number : 154 Question Id : 7368155812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which article of the Constitution of India confers upon the President the power to grant
pardon to convicts?

Options:
1 « Atticle 72

- % Article 82
3 % Article 52



4 % Article 42

Question Number : 154 Question Id : 7368155812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AR TiauTeT & fdl 3eleie & HeaN - Teguld & I HOWITEEl &l eTHmgTel &of
o &7?

Options:

1_%_;3%3?63?2

P }

o x HUOG 82

s

5 x HITOG 52

P

4% Helzoic 42

s

Question Number : 155 Question Id ;: 7368155813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who has the power to impeach the President of India?

Options:

1 % Prime Minister
- « Parliament

=z % Vice-President

4 % Chief Justice

Question Number : 155 Question Id : 7368155813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
R & Uscdid O fhad canT HEIfEeT T A1 Jadl 67

Options:
| % UEITTHAA
o o G
5 % SUrsgaicd
o HET AT
4. 0

Question Number : 156 Question Id : 7368155814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who received the Rajiv Gandhi Khel Ratna Award for the year 2015?
Options:

1 « Sania Mirza

> % Yuvraj Singh

= % Rohit Sharma



4 % Saina Nehwal

Question Number : 156 Question Id : 7368155814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tetta el Wer Tt g, av 2015 & fav B e ar?
Options:

| o Sfear ST

x JIU 186G

Z.
2 ® Ufed AT

4 % WISl sGare

Question Number : 157 Question Id : 7368155815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the winner of Femina Miss India contest held i 20157
Options:

1 % Smita Bhatt

> o Aditi Arya

5  DivyaRao

4 % Tina Yadav

Question Number : 157 Question Id : 7368155815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
a¥ 2015 # wiAEar A s ufaeast et Siar ar?

Options:

1 % TOAdr #g
o v e
5 % fcodr 3@
g % CI ARE

Question Number : 158 Question Id : 7368155816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who won the Jnanpith Award for the year 20157

Options:
, « Raghuveer Chaudhari

> % Ravuri Bharadwaj
5 % C.Narayana Reddy

4 % Bhalchandra Nemade



Question Number : 158 Question Id : 7368155816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

a¥ 2015 & AEIS [WESR hde Srar §72
Options:

| o VAR SR
g_ﬁqa:r_& :QE

5 % Gl FARRIOT ¥Sa!

4 ® ATeldg dHA:

Question Number : 159 Question Id : 7368155817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who won the Filmfare best actor in a leading role (male) award for the year 20157

Options:
1 # Salman Khan

> % Shah Rukh Khan

-  Ranveer Singh

, % Shahid Kapoor

Question Number : 159 Question Id : 7368155817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

af 2015 # wades sfEear Aol & v TRy REeR el Sifar 417

Options:
1 & YelHled dlal

. % YGEE WA

4 % G T

Question Number : 160 Question Id : 7368155818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the second highest civilian award in India?

Options:
1 + Padma Vibhushan

> % Padma Bhushan
= % Padmashree

4 % Bharat Ratna



Question Number : 160 Question Id : 7368155818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
farfafad #& & s, sRa 7 gfady gafsa aeRE R 82
Options:

EHRTEER]

UET S79OT

1.9
g .
o % USIAT

4 % OIRA T

Question Number : 161 Question Id : 7368155819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the autobiography of Michael Jackson titled as?

Options:
1 % Guns and Roses
> « Moonwalk

z % Cat walk

, w Dancing Floor

Question Number : 161 Question Id : 7368155819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AISehol Siade Bl HeHGT & oivE & §7
Options:

1 ®% e U5 {alad

R

2 ® aﬁ_ aufﬁ
4 ® Eliﬁal Tolid

Question Number : 162 Question Id : 7368155820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the author of the book ‘Ignited Minds’?

Options:
1 « AP.J.Abdul Kalam

- % Shoba De
= # Ramachandra Guha

4 % Ashwin Sanghi

Question Number : 162 Question Id : 7368155820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



TIASCS ASSH AHSG Jede & o@d Hied 67
Options:

| THLSL SEgE e

o ®% 2T 3

L % SIS IR

Question Number : 163 Question Id : 7368155821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who wrote the novel ‘2 States’?
Options:

1 % Shoba De

- « Chetan Bhagat

=z % Ruskin Bond
4 % Salman Rushdie

Question Number : 163 Question 1d : 7368155821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T TeCH' AAF [oAE H A@h Hid 57

Options:

| ®% TS
5 o Tdel HId
3 ® Tﬁ%ﬁﬁ

4 % ToIHART T

Question Number : 164 Question Id : 7368155822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the author of the novel *Guide’?
Options:

1w R.K Naravan

- % Salman Rushdie

5 % Srirangam Srinivasarao

4 % Vikram Seth

Question Number : 164 Question Id : 7368155822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AMSS ATHG UTEE 3TN & ol il 7

Options:



|« AN & AT

5 % WoAR T

5 % ARITH AfAaRT U
4 % Td&HH @6

Question Number : 165 Question Id : 7368155823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the author of the novel ‘The Golden Gate®?
Options:

1 # Salman Rushdie

- % Kushwanth Singh
3 « Vikram Seth
4, » Girish Sanghi

Question Number : 165 Question Id : 7368155823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FMess A AHG JEdeh & o Hld §7

Options:
| ®% TICTHT FET

5 % rad &g

=

4 % Tardrer @rEr

Question Number : 166 Question Id : 7368155824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From which Indian state did the ‘Kuchipudi’ dance form originate?

Options:
1 +« Andhra Pradesh

> % Maharashtra
= % Karnataka
4 % Goa

Question Number : 166 Question Id : 7368155824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TGS AT H IPH AR & R TsT F g3 77

Options:



o # SR
3 % FedlcH
4 % 914

Question Number : 167 Question Id : 7368155825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Konkani’ is the official language of which Indian state?

Options:

1 # Kerala

> o G0a

= % Maharashtra

4 % Karnataka

Question Number : 167 Question Id : 7368155825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
g 7 ¥ 9 9adg U= # ‘'Siaol’ s amr 872
Options:

], ® FA
2 Wl
z % HENISC
4_%33@‘1275

Question Number : 168 Question Id : 7368155826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Where is the ‘Hemis Gompa’ fair organized?
Options:

1 « Ladakh

> % Mizoram

= % Arunachal Pradesh

4 % Manipur

Question Number : 168 Question Id : 7368155826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tafaa 7 ¥ g =g & @9 7 3cag #amar arar §7

Options:



4 ® il

Question Number : 169 Question Id : 7368155827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The classical dance drama form *Yakshagana® is popular in which Indian state?
Options:

, % Manipur

> % Andhra Pradesh
= % Goa

4 « Karnataka

Question Number : 169 Question Id : 7368155827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e ATHE dcd 9, ARG & g =9 H 91898 87
Options:
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Question Number : 170 Question Id : 7368155828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where did the traditional dance ‘Talgadi’ originate?

Options:
1 « Goa

> % Maharashtra
= % Karnataka

4 # Uttar Pradesh

Question Number : 170 Question Id : 7368155828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS FAHAE URFEIRE AN e HI 3 Fel § g3 o7

Options:

1 & LI
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3 ® Thellceh

4 % Jcal weel



Question Number : 171 Question Id : 7368155829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who acts as the Chairman of Rajya Sabha?
Options:

1 % President

> % Prime Minister

s o V ice-president

4 % Minister of Parliamentary Affairs

Question Number : 171 Question 1d : 7368155829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS TR & edal 1 HiHAS @i fsmar g7

Options:
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5  J9Igafd

Question Number : 172 Question Id : 7368155830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which Union Territory has the High Cowrt of its own?
Options:

1 « Delhi

» % Pondicherry
5 % Chandigarh

4 % Lakshadweep

Question Number : 172 Question Id : 7368155830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Tore theg oMTET WS T HUAT TaT & AT 87

Options:
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Question Number : 173 Question 1d : 7368155831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
To be eligible for Indian Citizenship. how many years a person needs to stay in India?

Options:
, w20 years

> % 13 Yyears
5 10 years
4 % 5 years

Question Number : 173 Question Id : 7368155831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AR ARTGAT & A9 dede & o, T cafeg &7 ag & s a9 o | &
TRl &7

Options:

1 % 20 a9
> % 15 @y
2 10 ¥
4 % 5av

Question Number : 174 Question Id : 7368155832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What is the total munber of Lok Sabha constituencies in Uttar Pradesh?
Options:

1.« &80

o W 40

o W 25

4 ® 35

Question Number : 174 Question Id : 7368155832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Scol & A oiehws foaTeel sl & ol T fhdet 57
Options:
1. ¢ 80
- % 40
z # 25

g *® 35

Question Number : 175 Question Id : 7368155833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who among the following has the distinction of being the longest serving spealker of Lok
Sabha?

Options:
, » G.M. C. Balayogi

> « Bal Ram Jakhar

5 % Neelam Sanjiva Reddy

, % Gurdial Singh Dhillon

Question Number : 175 Question Id : 7368155833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ARG & a9 39a 98T 9% g 3egeT Fid 1§ 87

Options:
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5 % o Hellg g
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4.

Question Number : 176 Question Id : 7368155834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the present Speaker of Lok Sabha?
Options:

|+ Sumitra Mahajan

> % Meira Kumar

- % Somnath Chatterjee

4 % Manohar Joshi

Question Number : 176 Question Id : 7368155834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ShTHT & ddATT HeYeT hid &7

Options:

1_%;:._1;@3?9@33

:Lﬁtrgmﬁ

2%
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Question Number : 177 Question Id : 7368155835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who is the present Vice-president of India?
Options:

1 % Meira Kumar

> « Hamid Ansari

= #% Pratibha Patel

4 = LK. Gujral

Question Number : 177 Question Id : 7368155835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT & oA ST St 87

Options:

:Lﬁtrgmﬁ
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Question Number : 178 Question Id ;: 7368155836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present Union minister of Science and Technology?

Options:
1 +« Harsha Vardhan

-~ % Radha Mohan Singh

= % Anant Geete

4 % Ravi Shankar Prasad

Question Number : 178 Question Id : 7368155836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
adAT dheard e R digaifEdr 74 Fia 87

Options:
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Question Number : 179 Question Id : 7368155837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following comumittee was appointed to estimate poverty in India?



Options:
1 % Balwant Rai Committee

- % Sachar Committee
= % Swaminathan Committee

4 +« Lakdawala Committee

Question Number : 179 Question Id : 7368155837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Terafeiaa & far afafa &1 fagiea - Wdaar &1 e & & e @ 75 o
Options:
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Question Number : 180 Question Id : 7368155838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is the present Director of the Central Bureau of Investigation (CBI)?

Options:

, = Ranjit Sinha

> « Anil Kumar Sinha
= % P.C. Sharma

4 % T.N.Mishra

Question Number : 180 Question Id : 7368155838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e Hedwol =R (IBC) & adama fders #id §7?

Options:
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Question Number : 181 Question Id : 7368155839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What was Narasimham Comumittee appointed for?
Options:

1 % Tax Reforms



o ® Tehelka Tapes
2 ® Population Policy

4 Banking Sector Reforms

Question Number : 181 Question Id : 7368155839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TRFEH wiAfa @ gfea feafee & s 87

Options:

. % &l TR

Question Number : 182 Question Id : 7368155840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where is the Banker’s Training College located in India?

Options:
1 « Mumbai

> #% Chennai
z % New Delhi
4 % Kolkata

Question Number : 182 Question Id : 7368155840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
do8 gfeaoT Fgfacaes - sRd # &gl W o g7
Options:

1.~-:—’-"‘E'~"G:.~a_é
> % Tools
5 & A% fGeell
4 % HICTeRIdr

Question Number : 183 Question 1d : 7368155841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which year was the Reserve Bank of India nationalised?

Options:
; % 1955

> % 1945



s % 1935
4 « 1949

Question Number : 183 Question Id : 7368155841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AR Rad dF &1 Ieemaor e a9 & & a=r o

Options:
1 % 1955

> % 1945
s % 1935
4 « 1949

Question Number : 184 Question Id : 7368155842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What was the period of the 4th five year plan?

Options:
1« 1969 to 1974

> % 1968 to 1973
s % 1955 to 1960
4 % 1961 to 1965

Question Number : 184 Question Id : 7368155842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

tefr o= ot Ar=er #r i
Options:

| 1969 & 1974

- % 1968 ¥ 1973
5 % 1955 & 1960
4 % 1961 ¥ 1965

Question Number : 185 Question Id ;: 7368155843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Grey Revolution’ refers to increased production of

Options:
1 ® Coal

> « Wool
3z % Fruits

4 % Fishes



Question Number : 185 Question Id : 7368155843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I wifa’ e @ & 3cuea # afe @ gefaa §?
Options:

1 % iTelT

2 o el

z # el
4 * FSTeE

Question Number : 186 Question Id : 7368155844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which continent does not have a desert?
Options:

1 Europe

> % Australia

z % Asia

4 % North America

Question Number : 186 Question Id : 7368155844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
@i & AFlGdT H HIS AFTAS AT 67
Options:

1 v T

o ® ST e
3 # TR
4 % 3cad ARG

Question Number : 187 Question Id : 7368155845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which one of the following is the longest continuous mountain range in the world?
Options:

, % The Nilgiris

> % The Alps

- % Ihe Himalayas

4 « The Andes

Question Number : 187 Question 1d : 7368155845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



fArafofaa 7 4 #la, fGeg &1 999 @l §dq 9a9d @ &7
Options:
1 ® GIRIEE

5 % IO9H
5 % (oA
4 & WIS

Question Number : 188 Question Id : 7368155846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where is ‘Bannerghatta National Park’ located?

Options:
1 % Nainital
-  Bengaluru

z % Dehradun

4 % Guwahati

Question Number : 188 Question Id : 7368155846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘ITEET USERT Tk’ el OY T8I &7
Options:

| % welidrel

o SRR

38 ST

&% e

a |

Question Number : 189 Question Id : 7368155847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Gulf of Mannar is along the coast of

Options:
1 % Andbhra Pradesh

- % Maharashtra
= « Tamil Nadu
4 % Kerala

Question Number : 189 Question Id : 7368155847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AeaR &7 @WET fhE dex@r F AT §7

Options:



5 ¥ RN
5 o CHHC G

4_%33“?1

Question Number : 190 Question Id : 7368155848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With how many states does Madhya Pradesh share its border?

Options:
1 % 7
> % 4
= % 3
4. ¢ 5

Question Number : 190 Question Id : 7368155848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HEAYCr A= T HAT fohde T & 3 55 67

Options:
1 #® 7

2_234
3_%3

4. & D

Question Number : 191 Question Id : 7368155849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which was the first metal used in the Indus valley civilization?

Options:
1 % Aluminum
> % Platinum

z % Gold

4 Copper

Question Number : 191 Question Id : 7368155849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Terer e Fear A 9N T A arell 9UH eng Sl @ 87

Options:

. MogHATaaH
1_$ ?,;.

> % TelieaH



=z B Hledl

Question Number : 192 Question Id : 7368155850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The teachings of Guru Nanak 1s compiled in

Options:
| « Adigranth

> % virupaksha
=z % Zinda Avesta
4 % Thirthankara

Question Number : 192 Question Id : 7368155850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I A 1 faHT B fREd whfad e I §2
Options:

1, v I

o % Taeue

5 % Toiar 3T

4 % drefey

Question Number : 193 Question Id : 7368155851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who was mainly responsible for the 1857 revolt?

Options:
1 # Lord Moutbatten

> % Lord Curzon
= % General Dior

4 « Lord Dalhousie

Question Number : 193 Question Id : 7368155851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1857 facig & foIv A&T §9 § @i [SFAGR ar?
Options:

| % W5 ACIeA

5 ® IS holel

3 % Sfelel SR



4 15 Sertel

Question Number : 194 Question Id : 7368155852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When did the non-cooperation movement start?

Options:
1 % 1910

> % 1930
5 % 1940
4 « 1920

Question Number : 194 Question Id : 7368155852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HOARAET Hleciold ol HFET & g3t aqT?

Options:
1 % 1910

> % 1930
s % 1940
4 « 1920

Question Number : 195 Question Id : 7368155853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who founded the Kakatiya Dynasty?

Options:

, » Rajendra Chola
- % Kakati

= o Betal

, % Ganapati Deva

Question Number : 195 Question Id : 7368155853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FTHATT T & TETIF Pied 407
Options:

| % Toleg =Tl
5 % IRl
3 o STl

4 % IOTIIT &



Question Number : 196 Question Id : 7368155854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The legendary lawn tennis player Bjorn Borg is native of?
Options:

1 « Sweden

o % Spain

= % France

4 % Serbia

Question Number : 196 Question Id : 7368155854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ol el & uifig f@est &t @l (Bjorn Borg) Her®d & e &1 & &7
Options:

1. dIsd

> ® Tl

2 % W

4 % @fqEr

Question Number : 197 Question Id : 7368155855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

With which sport is Sultan Azlan Shah Cup associated?
Options:

1 % Football

-  Hockey

3 % Cricket
4 % Badminton

Question Number : 197 Question Id : 7368155855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Godlel 3ololel 2E &9 & Had foed e d §7

Options:

1 & J:

5 o BRI
z ® fehehe
4 ® B‘!?ﬁﬁt_rr

Question Number : 198 Question Id : 7368155856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



‘What is the number of players in a basketball team?

Options:
1 ® 0
o W 6

—

T ®

4. ¢ 5

Question Number : 198 Question Id : 7368155856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ahe did ga # fhds f&esr g 872
Options:

1 % 9

o % 6

3_%?
4. & O

Question Number : 199 Question Id : 7368155857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

With which sport is Irani Trophy associated?
Options:

1 % Badminton

- % Kabaddi

- % Hockey

4 « Cricket

Question Number : 199 Question Id : 7368155857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST Erhr TR @ o gafaa §7
Options:

| % dsfHc

o B ﬂ"ag-.g!

3 R ieh
4 o EEid

Question Number : 200 Question Id : 7368155858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Where were the 2014 Olympic Winter Games held?
Options:

1 % Athens



- % DBuenos Aires
3 « Sochi

4 % Qatar

Question Number : 200 Question Id : 7368155858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
2014 ofiaaTelad Heifde @ell & HIATAT FEl T =T ar?
Options:

1_%3(’%

zﬁﬁlﬁﬂm

o,

3 W I
4_%‘3 chdd



